5t 8A26H BE LA B BEHER
& 1 R £4 920 s 2R £& 930 ® 3 R £4 945
820m SEE  9:30 820m RE 940 1400m  $FE 9:55
) Flstvz—nea [ 2 mews *5%:!@13 panlt Chvraraid 2 aown ETKERX  aee mw)t s ara—x 2 ﬁmf'féélf?7 494 HIE
2 Moy ez 2 geem U0 FismE|2 M ry—T57y 2 wosw AR/ 7 415 BHEle = PG et SR B
3 #;b*birasw? 2 gERS \'/]%'\ftg TE¥*|3 ﬁm-'r:sar?:rrb 2 wrgE T ﬁé/ 460 BHZ T i YooY 2490"";-:'.‘3!&
s Marrozs— | 2 zees M P xir ] L Fliony 2 wam T <73 480 @ y
5 Mlxrurra 2 gEhgE F/[?\ﬁf 436 #mEls  |SInE—28 2 mEgE ﬁé’ﬁﬁ(sﬁ Bh—
& Py 2 ﬁx&gﬁiﬁﬁé 463 WHA - |
N A e (A 7, AR F = 1 it 11 a0 7,
g Mok 2 axem iR 36 45 Tk
g 4R £a& 955 % 5 R ®&as 1005
1400m RE 1005 1400m $FE 10:15
1 g PAUE—EAS— 4 gﬁﬁ?ggﬁeﬁ ¢$1\ 440 JmEEE 1 f h—OFIr T4 4 g;gm}f I f Zé 511 @cp—
i Z - TP 7 R A~ Hrh
2 Plasskatn 4 moE “%%25' sto mms|s * li—xrmuz s szem N ST T 502 @
o Pleosniga—n 4 s—mm B3R i‘}_ ¢ s mpm)s f*fﬁ%w:fxam 10 a3em ﬂﬁ‘f?s 485 @M
5 “las sy 3 rrmn 20 €K7 464 xum s—iwmwmwwww-wWﬁ
6 Plpotris— 4 poimm FHE €70  s0 ma-

BE¥Zm




M = 8F 268 B OB & HE £ & . :&

®E 920 RE 930 ®E 945
1R 2 R 3 R
FIR  ooom  ®& sm | * Y 1400m B 955
1 Exwt:/x~;bzs 2 nitE o{’u 9 L% ] - 2 ; ﬁ tEMn——x 2ernx S - 3’ 8 494 ¥TE
2 Blowares 2 npan — stk - —
3 Plaareosyr | 2 sees 0877 imx
4 ﬁa.ﬂs;rzaw 2 wEhE ﬂ_{?«c & xHEla
5 ix-a-'v:r?{ 2 BhRE M). . tﬁ?xbe-—za 2atmx | N R E  mu-
Is IAIRET 2iwwx ) £RL.O 3 mum o
8 lvFxqe 2 gxsm 0  us mum
5
£E 955 £48 1005
4 R 5 R
L 1400m Sk 1005 » 1400m £E£ 1015
1 Egnvt'—'e:vx&— g {rmnmgf 2% .0 w0 munli “s—aysrire 4 azem yA 32.3 50 me—
3 st st 4 wHER 19
a4 #ams»r:x-n, dysun L. 3H.§ 5% mew

|smem.¢ svvum Lo 30 T a0 snim
T 15— 4 558 /. ﬂ ,5 480 M—




